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Answers

1. A

2. D

3. A

4. D

5. C

6. D

7. C

8. D

9. C

10. C

11. D

12. D

13. A

14. C

15. A

Solve each problem.

1) Which choice is a
multiple of 2?

A. 32

B. 25

C. 41

D. 35

2) Which choice is a
multiple of 3?

A. 47

B. 55

C. 50

D. 36

3) Which choice is a
multiple of 9?

A. 144

B. 182

C. 178

D. 123

4) Which choice is a
multiple of 3?

A. 34

B. 55

C. 58

D. 54

5) Which choice is a
multiple of 10?

A. 164

B. 137

C. 130

D. 127

6) Which choice is a
multiple of 6?

A. 115

B. 94

C. 119

D. 114

7) Which choice is a
multiple of 10?

A. 144

B. 181

C. 110

D. 135

8) Which choice is a
multiple of 9?

A. 160

B. 146

C. 106

D. 180

9) Which choice is a
multiple of 10?

A. 167

B. 194

C. 120

D. 189

10) Which choice is a
multiple of 5?

A. 98

B. 73

C. 85

D. 76

11) Which choice is a
multiple of 3?

A. 61

B. 55

C. 34

D. 60

12) Which choice is a
multiple of 2?

A. 29

B. 33

C. 27

D. 34

13) Which choice is a
multiple of 6?

A. 102

B. 98

C. 119

D. 83

14) Which choice is a
multiple of 5?

A. 86

B. 97

C. 85

D. 96

15) Which choice is a
multiple of 6?

A. 78

B. 73

C. 123

D. 124
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